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reg [4:0] Matrix [4:0];

Matrix[4]=5"bXxxXxXxxX;
Matrix[3]=5"bxxxxxX;
Matrix[2]=5"bXxxXxXxxxX;
Matrix[1]=5"bxxxxxX;
Matrix[O]=5"bXxxxxxX;

o AL

begin
Matrix[4]=5’b00100;
Matrix[3]=5’b11000;
Matrix[2]=5’b01001;
Matrix[1]=5’b11101;
Matrix[O]=5’b10110;
end

L

if(

Matrix[4]==0 &&
Matrix[3]==0 &&
Matrix[2]==0 &&
Matrix[1]==0 &&
Matrix[O]==

)



reg [24:0] Matrix2;

Matrix2 = 25 DXXXXX_ XXXXX_ XXXXX_ XXXXX_ XXXXX;

i e

row

iInteger col , row;

Matrix2[5*col+row]
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always@(posedge clk)
if(... ... )

case(key)

up: if( currow !=0 && (red[ curcol*5+currow-1]|green[curcol*5+currow-1])==0)
nextrow=currow-1;

down:if(currow!=3'b100 && (red[curcol*5+currow+1]|green[curcol*5+currow+1])==0)
nextrow=currow+1;

left: if(curcol!=0 && (red[(curcol-1)*5+currow]|green[(curcol-1)*5+currow])==0)
nextcol=curcol-1;

right: if(curcol!=3'b100 && (red[(curcol+1)*5+currow] |green[(curcol+1)*5+currow])==0)
nextcol=curcol+1;

default: begin nextrow=currow;nextcol=curcol; end

endcase

REmERE . RERA: e RBE— 00
Wesk: 1L PR BB, HELEE) O 00



SEHC SRR R A& R & A

PERAFME
BRI, AN iB e 5 keydowniki

» PR

i T
L .

i B BT

> WEBEIFIRAS&&keydown = HE P
> WE R UK &&keydown 5 HLF
> TEARIRAS




